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[AEM311] A settlement with over 500,000 dwellers is called
metropolitan town

[AEM311] A community with reliance on river and/ or rain for water source is aptly
described as an
rural community

[AEM311] The following farm equipment/tool are not common in rural areas except
cutlass

[AEM311] is a typical example of an urban area
Metropolitan city

[AEM311] The following are common type of labour used by farmers in rural areas
except
none of the options

[AEM311] Bad road linkages in rural areas is said to be responsible for the following
except
insecurity

[AEM311] Lack of viable cottage industries in rural areas is because of
lack of power supply

[AEM311] Rural areas are characterized by the following attributes except
automated industries

[AEM311] Some reasons why more industries are sited in the urban areas than in rural
areas include the following except
stadiums
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